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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, efc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version CodeA, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (OMR) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheelt is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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1. Polio is caused by

a) Virus b) Protozoan c) Bacteria d) Fungi
Bpedolpe YUOERTURYHTL cInFPYuoes ?
a) Jo=* b) Fpedncinem  ¢) WIOCIR d) 690
2. Chlorination of water is done for
a) Removal of turbidity b) Disinfection
c) Increase in oxygen d) Decrease in oxygen
20T SRONETNoIR N oD
a) rctiogingen 2d b) Seerwr Asered
¢) swmnadn d) saxasvas
3. The Forest Conservation Act was enacted in
a) 1974 b) 1972 c) 1986 d) 1980
©03, TeUEHR S0 CIRT SIF Y, tRocinei ?
a) 1974 b) 1972 c) 1986 d) 1980
4. Which of these gases filter high energy solar radiations from reaching the earth's
surface ?
a) Oxygen b) Nitrogen c) Ozone d) CO,
TINMVG, iR sRuy 8D .;.admﬁdsb‘ %ea ?
a) sRoxy b) S’ c) Ldner d) CO,
5. International Yoga Day is celebrated on
a) June 16 b) June 21 c) May 22 d) September 17
voa’dowteom claent DTS wotd SHioR=T 2
a) =RT 16 b) =azr21 c) Soe22 d) JorT 17
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6. Acid rain comprises of

a) Sulphuric acid and ozone b) CO, and nitric acid
¢) Sulphuric and nitric acids d) Sulphuric acid and CO,
o) IRODY QTS TmPF
a) JoR 0F ) ) tulaw’ b) CO, 3y Fuie* i,
c) Tup 05 TPy Fuis® wE) d) Jug oo g3 %) CO,
7. Starch and animal fats are used to adulterate
a) Paneer b) Milk c) Butter d) Khova
e w08 wyrdoh ), CIRFTO seriTE sucdethndst 7
a) Zneo* b) = c) o, d) #nem
8. Minamata disease is caused due to pollution by
a) Arsenic b) Lead ¢) Mercury d) Cadmium
WERL drertsy) I8 cIRFPI BROF DT wokRZE 7
a) GRFRE b) A% c) S0 d) ®m,gcd0
9. Which among these, is a life style disease ?
a) Dysentery b) Obesity c) Jaundice d) Influenza
eSS gdooed ook deent
a) @»3md b) e, Cc) ol d) ea'ghodeme
10. Environmental Protection Act was passed in
a) 1990 b) 1981 c) 1986 d) 1974
EPA (a!o;r:d KoTg noaad)odﬁl oI SHrEY RORAYISRONE ?
a) 1990 b) 1981 c) 1986 d) 1974

11. The permissible thickness of plastic covers to be used especially for packaging
foods is

a) 100 microns b) 10 microns c) 40 microns d) 20 microns
TRAPT Weon OF 248, eud) $E0 BeTdr YuNedRNRLEED ?
a) 1003 b) 10", c) 40T d) 205,
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12,

13.

14.

15.

16,

The disease hepatitis is caused by

a) X-rays b) Radioactive rays

c) Contaminated water d) Allthe above

ST TPt FWOCT vuotnrZd

a) ¢ -8 b) deacder XS c) MOTONE  d) DedF S,
Terrace forming is practiced in the

a) Hills b) Plains c) Deserts d) Coastal areas
el Yot SESSEO0S Hles

a) tEm@ IS b) A A c) domdd  d) doose Pl

The region where river meets the sea

a) Delta b) Ecotone c) Shore d) Estuary
w0 Eite S0 Hedds wort

a) 3=, b) sdsnieamT c) 3nec” d) a%ed
Vermi composting is carried out by

a) Soil fauna b) Earthworms c) Fungi d) Insects
T woperorT =) TR el

a) oraguieliniv b) Bz c) Fori d) sewansd
Besides sanftaton, P.M. Narendra Modi's ‘Swachcha Bharath’ movement, addresses
a) Sewage treatment b) Solid waste management

c) Water treatment d) Air pollution control

TeRaisbod, Seetohad 2, 1R03 SRR, T §or &, wdnn ted S18vng
IR BIPODISY

.a) % Dech WOeEs b) IR AT

C) ReoF DTN d) Soanddy 3
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17.

18.

19.

20.

21.

Development causing minimum damage to environment is

a) Slow development b) Rapid development

c) Sustainable development d) Allthe above

Z=TIrsE, 835, Srotit SRS az;a*b%ﬁ I

a) AT eRsl b) &, e:p;gmo c) zi:zéd ez;q;% d) 203 %,

Smog refers to mix of

a) Smoke + Dem b) Smoke + Pollen

c) Smoke + Fog d) Smoke + Water Vapour

R 2000

a) mﬁmx_g’az.@ b) Zeri =L Zoon

c) Ter T =oowd d) e 2eos v

The organic matter content in solid wastes can be used to produce

a) Compost b) Biogas ¢) Humus d) Both (a) and (b)
PR, R TETIS mTeLE Uamwaiﬁéag‘ B3 S9N CIRTHTO LuS T wrtEehd ?

a) sodpen’, b) wolrem s’

c) ZR=E d) (a) == (b) woEe

The Child Labour (Prohibition and Regulation) Act of 1986 prohibits employing
children below the age of

a) 15years b) 1Byears c) 16years d) 14 years
IR UBOFE (DTG ST Do) Tewt, 1986 HEd cdnd sota s whasr
Sriclded wadn ?

a) 153=@nisd b) 18 Z=Fnish c) 16 3=rmish d) 14 S=Zrmisd
Normal body temperature of an adultis

a) 98.6°F b) 96.8° F LC)94.6°F d) 99.6°F
TR0y mInT Do e

a) 986°F b) 96.8°F c) 946°F d) 99.6°F
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22,

24,

26.

27,

The approach to Unani Medicine, first started in

a) Greece b) India c) Germany d) USA

cloren BO Sgschn Sptus cns Bend, Huddnds) ?

a) ner b) T3 C) HFD d) coaT.Q
. Technology for generation of energy from wastes is

a) Mineralization b) Sedimentation

c) Segregation d) Biomethanisation

3?,5%&053 SR ScIROICLY vumcdpeNRE Som

a) 238U, b) IO

c) [ ededo d) wodsedgams’

The “Rain forests of oceans” refers to

a) Coral reefs b) Minerals c) Seaweeds d) Sediments

TRy MO SFTRE 2000 TToDURZT

a) T Ouivd b) Rznwh c) Ev Y d) =mewedonsl

. The following are general soil pollutants

a) Chemicals b) Pesticides c) Fertilizers d) Allthe above
ARNYY, CIRFH LATROFTR YolTREFE ?
a) COmICHREED b) #eLimTEn c) g riawg d) 2008 o

Pulse Polio Immunization was launched in India in

a) 1980 b) 1995 c) 1975 d) 1990
Ro2nd Fpedciet VAT ROLFERD TROCERT IRF

a) 1980 b) 1995 c) 1975 d) 1990
Chemical adulterants for turmeric commonly used is

a) Cadmium chloride b) Copper sulphate

c) Lead chromate d) Metanil yellow

2088, FUUTE IRBEw wzcdawdE TITROINE =
a) wGewoBReYE  b) wmot AdnT c) Oa dnrEhnr d) WY’ 28R
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28.

30.

31.

The vaccine used for polio prevention is

a) OPV b) DPT c) MMR d) BCG
*quoiracdz&i SEreo LuTcdRenmdsm Vg
a) OPV b) DPT c) MMR d) BCG
. The natural habitat for Indian lions is
a) Nagarhole b) Gir forest ¢) Sunderbans d) Kanha NP
PROSECDH 20BNY ng:mas VR IR ?
a) WNoBRY b) Ao oty
¢) RooTT W', d) B2, Doy, e00 YVTR,IT
The ecofriendly fuel is
a) Petrol b) LPG c) CNG d) Kerosene
ﬁoﬁd{eb ©RY
a) Jdne* b) wor.a.2 C) ANT.2 d) scmeas
Wastes generated by discarded computer peripherals
a) Computer waste b) E-waste
c) Solid waste d) Hazardous waste
5&"5&&30‘7‘% Towodas EDRASES
a) FoTRLTT I, b) a-=%, C) PR, d) maInTB=RY
. HIV infection mainly causes
a) Liver failure b) Decreased immunity
c) Cancer d) Kidney failure
HIV Rneosd 02, Fomsd
a) 2FuFTons Eeond b) ZddeegE 2§ sRIOCIRMFYTD
c) ®,J0° d) SwreserEs Arotd
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33. Sewage finally flows into water bodies causing

a) Eutrophication b) Bioaugmentation
c) Biodegradation d) Bioaccumulation
Savhi Rech weumoTiRRunen B oon LrdE O
a) chwineasss b) wodse wrjotdeds”
c) wedee Bridwst d) wodne LRSI
34. Improper sanitation and disposal leads to
a) Ground water discharge b) Ground water loss
¢) Ground water contamination d) Ground water recharge
R Q&rg&g&dﬁ;moﬁ s Jormed
a) wodnro Reod b) @cSmruza,
c) voBuruEndy d) ©o¥nFe buRE'F
35. Removable energy generated from sea waves
a) Seawave energy b) Ocean thermal energy
c¢) Tidal energy d) All the above
TR LLnven SodTREFIAS B8
a) FSHT, Loch 8 b) T=0E 0T B8
c) zib,d::' 8 d) 00T 2R,

36. Predominant reason for global warming is
a) Land Pollution b) Air Pollution ¢) Water Pollution d) Solid Wastes

w3 SEnan Htolod B Eses YrtEs

a) yesndy b) mv &RGF C) RO TR d) Ps%
37. Major impact of mining activity is

a) Streanv/River silting b) Dust pollution

c) Water pollution d) All of the above

Hmoicdo o), Tomos

a) so/mmszgg b) Gevncd SRdF

c) wusRdF d) R0eds o,
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38.

39.

41,

42.

Who is regarded as father of Yoga ?

a) Sushrutha b) Pathanjali
‘et ZED &TET
a) =3F b) =Zoz®

WWEF is an acronym for
a) Wildlife World Fund

c) World Wildlife Finance
WWF & 2% 3 daz

a) FoSF JotF Joo
c) ST F EFF FmT,

Deforestation in the long term leads to
a) Loss of biodiversity

c¢) Soil erosion and drought

LR RY MIARTTN BT00T

a) B Fag3ch we

c) wexsz =g wo

c) Charaka d) Dhanvanthari

c) w8 d) Fe

b) World Wide Fund for Nature
d) Wildlife World Finance

b) SerraiaT Fowr ot Snkct
d) HoGF SO,

b) Loss of habitat
d) All of the above

b) x;gaeawm
d) sz as

Asthma is caused by the following pollutants

a) Pollen dust b) Particulates
£HER TSN TEO0T RoplRiZs
a) Toondera b) gava s

Low blood platelet count is characteristic of

a) Diabetes b) Malaria

o409, Fewwr SiriY osd, TeshoDTLBT 8 et g

a) Alsong b) =oLebasn

Adding non-food substances to food is called

a) Alteration b) Mixing

Enbmiihmleiniote afetfo] an_;rwi LT Q080

a) LEYRHD

b) &o8 FRBFP  ¢) YenicE

c) Ozone d) Allthe above
c) bLlnss* d) S0z aoy
c) Dengue d) Cholera
c) dong d) nc®
¢) Adulteration d) Addition

d) Feobzymo
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44. Sewage discharge into water bodies results in

a) Decreased BOD b) Increased in BOD
c) Decreased COD d) None of the above
Z,%5, VO BV, WRFPTOS
a) .. 8. safodnnsled b) w.t.&. ﬁwa"rb@d:
c) &.b.8. sascinmHd d) cingPtin vy
45. A biodiversity hot spot in India is
a) Nanda Devi b) Dimbam Ghats c¢) Western Ghats d) Nandi Ghats
S IINIFNIVO, CIRTYTD yRTST WodRE TLF L TR 7
a) ot b) Dowoger, c) a:%do PURY d) Sobedk
46. The effect of carbon monoxide released by automobiles is that in human systems, it
a) Reduces hydrogen b) Reduces oxygen
¢) Reduces CO, d) None of the above

HBINTOT WRNECIRT DWFY HomE B Res SRR Se@TY_ cins 2oy
BRZo0IRmIE ?

a) wuxdE b) exx
C) wemun @ ¥E = d) cInzkTe ¥u,
47. The chemical DDT is
a) Semibiodegradable b) Biodegradable
c) Non-biodegradable d) Naturally degradable
8.8.13.0000 H4 39N cIna Dedoh THRCLIE 31 9
a) B welnetndue b) wedaeaniduwe”
¢) T -ucintRridue” d) =000 andue
48. Deficiency of which vitamin leads to night blindness
a) Vitamin—-C b) Vitamin-B c) Vitamin—-D d) Vitamin-—A
o8, BBRT B1 BeSHE T 3RTZ0W0T wuotnizs
a) VLT -4 b) QL30T - W C) JeRwT - & d) BT -2
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49. Automobile air pollution is controlled by
a) Electrostatic precipitators b) Cyclone separators
c) Catalytic convertor d) Fabric filters
BINPoT wibss Brtowed TCINTROF T L0
a) QT8 UL Jratieot b) FERea" ATCesc’
C) TWGLT 5T WFT° d) WUF 007
50. In biogas, the chief component is
a) Sulphur b) Carbon monoxide
c) Methane d) Hydrogen
q‘m’ “en aim% DL
a) nogs b) acrmes dawE =
C) FeT* d) wens
51. Vector for transmission of malaria is
a) Anopheles b) Aedes ¢) Houseily d) E. coli
SoYedctn By 81 89nS cdnysoed FORZE ?
a) OIITF b) L&ex* c) sne d) =a-3ae8
52. Rickets is caused due to deficiency of
a) Vitamin—-A b) Vitamin-D c) Vitamin-B d) Vitamin—-C
08 BNy CcIRe wesSsE o SnT8con WS ?
a) Q0T A b) &se0a® D c) DB d) Qe C
53. Siddha system of medicine is most prevalent in
a) Madhya Pradesh b) Jharkhand c) Tamil Nadu d) AndhraPradesh
m‘g a’g,dsﬁeom m’%&o&n B TUETO. T N FoROWSIE
a) WF T b) @wLlroT* C) SR d) sog Iuey
54. Coolant used in refrigerators is
a) Nano liquids b) CFC ¢) Liquid N, d) Liquid gases
SuTERT VY cucdeenxds dndosst
a) Wit TS b) CFC c) BS s d) S e
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55. The Ebola disease is caused by

a) Fungi b) Bacteria ¢) Viruses d) Protozoan
e Srert, BT
a) 85¢cg b) w2,8¢0ciR c) S d) @ einedne

56. Paddy field is an example of

a) Fresh water ecosystem b) Terrestrial ecosystem
¢) Engineered ecosystem d) Marine ecosystem
WEE PR R, U antslel ]

a) o5 Neds woxd b) e oo

c) 038 TO=T d) s@o Zoxo

57. Thermal pollution causes
a) Increased CO, in water
b) Increase in BOD
c) Increase in COD
d) Decreased dissolved oxygen in water

O, 0cd BT LOCERTWET

a) ReesY CO, TR 08 b) BOD Zzbwee 208

¢) COD Hanes D08 d) ReomY, IONS BxTEd 3RS
58. National Tuberculosis Research Institute is located in

a) Jaipur b) Delhi c¢) Bengaluru d) Hyderabad

Todg sed goddat Jodpgm® dtond) 208

a) 1%@6 b) 339 c) donsnd d) ZEome
59. Which of the following is not a Green House Gas ?

a) CO, b) CFC's \¢)"Methane d) Oxygen

21 SUNIYrvY, conPch B SN LRL LY ?

a) CO, b) CFC risb c) Be* d) ssne
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60. Black lung disease is an occupational hazard of

61.

a) lronoremining  b) Coppermining  ¢) Coal mining d) Lead mining
3%), T, RERT TooTCIN B4 N cIRPYTO ricdrebdotocs W3E ?

a) % b) ==y c) 95w d) aem
Geothermal energy is
a) Turbine energy b) Solarenergy
c) Heatenergy d) Electrical energy
gleriylr Z8ci twowd
a) 97 b) =*czd c) v T d) amyT %
. Radiations trapped on earth’s surface by green house effect are
a) X-rays b) IR rays c) UV rays d) Allthe above
Bach s WomsDoman edocioet ket uRis $08
a) § - #0m b) w=3riox) soe c) @33gsde  d) :ddEamy
. The units to measure noise levels is
a) Ohm b) Pascal ¢) Decibel d) Calorie
Tuw TORREITHY 2O BPCIT]RT
a) L b) mr* c) @ d) 5,800
. Which of the following is not a water conservation method 7
a) Improved irrigation b) Rainwater harvesting
c) Ground water removal d) Reducing water wastage
2T e Kooy rs ERENY,
a) P VT VFOT b) =% 20T ol
c) woSuro NS d) R0 Beeb? SEcoRHD
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66.

67.

70.

Tiger State’ was first referred to

a) WestBengal

¢) Madhya Pradesh

2 g T, O Doz ot $8eI0RT
a) bz worne b) gmorus

Smoking in public places is an offence
a) In restricted places

c) Yes

s HINVE CRsms geQAT

a) oy @ﬁdq, =R

c) T

Recyclable solid wastes could be
a) Paper b) Glass
DT ORNETHT 838 NRTCEE
a) = b) =2

Wildlife (Protection) Act was passed in
a) 1952 b) 1984

US - 680
b) Karnataka
d) Gujarath
c) G BT d) romoee”

b) In institutions
d) In parks

b) Beieondd =ng
d) SR IITrVO, SR

aa'ta’se&) (#od{g&a) mc&gﬂc&::i:ﬁ HON o0 SHF

a) 1952 b) 1984

. Example of an inexhaustible resource

a) Coal b) Natural gas
RxbgprrRedy @ FolEgud wmEos
a) §9Tw b) m,PFERY

Goitre disease is caused by deficiency of
a) Zinc b) Iron

nencd drens) aEt 8RTS0NmRNEE

a) =D b) e

c) Metals d) All the above
c) SreEnsd d) $oed3 2R,
c) 1972 d) 1964

c) 1972 d) 1964

c¢) Fossil fuels d) Solar

c) TWcovd d) Zechrzd

c) lodine d) Calcium

c) Lcintes d) 5,900
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